AGRAWAL 30t April 2022

solved paper

_AAMCART included

Paper Pakka fasegal

CONDUCTED BY
NAVODAYA VIDYALAYA SAMITI

JAWAHAR
NAVODAYA
VIDYALAYA

Entrance Exam 2023 *

Mental Ability Test | Arithmetic Test |
Language Test

Based on

)
JNVST 2023 paper \
P ra Ctl ce Solve these practice sets \
Sets Al

W\ with above 90%

(with OMR Sheets)
accuracy.

Solved
Papers

(2018 - 2022)

O

Code Price Pages ISBN
CB950 : ¥ 249 : 280 : 978-93-5561-642-5



CONTENT

Exam Information, Preparation Strategy and Current Affairs

O Agrawal Examcart Help Centre v
O Best Strategy TIET &1 AN B B I AABT! vi
o Current Affairs! &1 100% AEF TR SH X ? vii
O Jawahar Navodaya Vidyalaya Class-6 Analytical Chart viii
O Jawahar Navodaya Vidyalaya an Introduction X
0 Jawahar Navodaya Vidyalaya, Class 6 Syllabus xii
Solved Papers 1-42

» Jawahar Navodaya Vidyalaya Entrance Exam Class VI : Solved Paper-2022
Exam Date : 30-04-2022 1-8

» Jawahar Navodaya Vidyalaya Entrance Exam Class VI : Solved Paper-2021
Exam Date : 11-08-2021 9-16

» Jawahar Navodaya Vidyalaya Entrance Exam Class VI : Solved Paper-2020
Exam Date : 11 January, 2020 17-24

» Jawahar Navodaya Vidyalaya Entrance Exam Class VI : Solved Paper-2019
(Based on memory) 25-32

» Jawahar Navodaya Vidyalaya Entrance Exam Class VI : Solved Paper-2018
(Based on memory) 33-42
» Practice Set-1 43-50
» Practice Set-2 51-58
» Practice Set-3 59-66
» Practice Set-4 67-74
» Practice Set-5 75-82
» Practice Set-6 83-90
» Practice Set-7 91-98
» Practice Set-8 99-106
» Practice Set-9 107-114
» Practice Set-10 115-122
» Practice Set-11 123-130
» Practice Set-12 131-138
» Practice Set-13 139-146
» Practice Set-14 147-154

(i )



» Practice Set-15 155-162
» Practice Set-16 163-170
» Practice Set-17 171-178
» Practice Set-18 179-186
» Practice Set-19 187-194
» Practice Set-20 195-202

Solutions 203-279

» Jawahar Navodaya Vidyalaya Entrance Exam Class VI : Solved Paper-2022

Exam Date : 30-04-2022 203-205
» Jawahar Navodaya Vidyalaya Entrance Exam Class VI : Solved Paper-2021

Exam Date : 11-08-2021 206-208
» Jawahar Navodaya Vidyalaya Entrance Exam Class VI : Solved Paper-2020

Exam Date : 11 January, 2020 209-212
» Jawahar Navodaya Vidyalaya Entrance Exam Class VI : Solved Paper-2019

(Based on memory) 213-215
» Jawahar Navodaya Vidyalaya Entrance Exam Class VI : Solved Paper-2018

(Based on memory) 216-219
» Practice Set-1 220-222
» Practice Set-2 223-225
» Practice Set-3 226-228
» Practice Set-4 229-231
» Practice Set-5 232-234
» Practice Set-6 235-237
» Practice Set-7 238-240
» Practice Set-8 241-243
» Practice Set-9 244-246
» Practice Set-10 247-249
» Practice Set-11 250-252
» Practice Set-12 253-255
» Practice Set-13 256-258
» Practice Set-14 259-261
» Practice Set-15 262-264
» Practice Set-16 265-267
» Practice Set-17 268-270
» Practice Set-18 271-273
» Practice Set-19 274-276
» Practice Set-20 277-279

(iv)



Direction (Q. No. 1 to 4)
Tour figures (A), (B), (C) and (D) have been
given in each question. Of these four tfigures,
three figures are similar in some way and one
figure is different. Scleet the figure which is

different.

Reasoning

LI:i:'

W ® © M

A
L]

=
[
[l

@ ® © O

il
0P

% | Sl

,\
Zz
-

©
=
a
A

P

Ay B D)
A question figure is given and four answer
figures marked (A), (B). (C)and (D) are given.
Select the answer figure which is exactly the
same as the question figure.

3. Question Figure
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Direction (Q. No. 9 to 12)

There is a question figure, a part of which is

missing. Observe the answer figures (A), (B),
(C) and (D) and find out the answer [igure
which, withoul changing the dircction, [its
in the missing part ol the question figure in
order to complete the pattern in the question
figure.

9. Question Figure
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Direction (Q. No. 13 to 16}
T'here are three question figures and the space
for the figure is left blank. The question
[igurcs arc in a scrics. Find oul onc figure
from among the answer figures given which
occupies the blank space for the fourth figure
on the left side and completes the series.
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14. Question Figures Answer Figures 23. Question Figure
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Direction (Q. No. 25 to 28)
g O 0O 9 ) There is a question figure and four answer
A A ‘ Answer Figures figures marked (A), (B), (C) and (D) are

X given. Select the answer figure which is
Answer Figures @ D @ @ exactly the mirror image of the question figure
when the mirror is held at XY.

(A) (B) (0) (D) 25. Question Figure
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One part of a geometrical figure (Triangle, «

Direction (Q. No. 17 to 20) Square, Circle) is as question figure and the KRy

There arc (wo scls of two question [igurcs other one is among the four answer figures

each. The sel has an interrogation mark (7). (A). (B). (C) and (D). Find the figure that
There exists a relationship between the first i

Answer Figures

. e ) . completes the geometrical figure. p z
two question figures. Similar relationship 21. Question Figure X X >< X
should exist between the third and fourth - euestt 'au 4 4
question figure. Select one of the answer (A) (B) (©) (D)
figures which replaces the mark of g\ ) i
interrogation. 26. Question Figure
17. Question Figures Answer Figures X
Tl
B
N S T S S 7
Y

(A) (1) © O Answer Figures

22. Question Figure 1 L an ~Ta Ie)

g d g B
o vie plo vl
(A) B) (C) D)

Figures 27. Question Figure

Answer Figures

S| T2 ¢

(A) B) © (D)

18. Question Figures

AR @g@ <

. .

< TRRITORTR 4

44 | AGRAWAL =XAMCART



Answer Figures
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Direction (Q. No. 29 to 32)

A picec of paper is folded and punched as
shown in the question ligures and four
answer (igures marked (A). (B), (C) and (D)
arc given. Sclecl the answer figure which
indicates how the paper will appear when
opened (unfolded).

29. Question Figures

X) ) (2

Answer Figures

dbD || dB@ ad
a0 d0 DD

32. Question Figures
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Direction (Q. No. 33 to 36)
A question figure is given and lour answcer
figures marked (A), {B), (C) and (D) are
given. Sclect the answer [igure which can be
formed from the cut-out pieces given in the
question.
33. Question Figure
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Direction (Q. No. 37 to 40)
A question figure is given and four answer
figures marked (A), (B), (C) and (D) are
given. Select the answer figure in which the
question figure is hidden/embedded.

37, Question Figure
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Mathematics

41. 5-[4-{3-(3-3-6)}] equalsto:
(A) 10 (B) 6
© 4 Dy o
5
42, Thelength of a string is 5 meters. If 4 3

meters of string has cut, then find the
length of the remaining string.
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44,

46,
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51,

52.

53.

46

7
(A) 5 ®) 3
- o1
© 3 ™) ¢
What is 0.001 equal to ?
(A) 10% B) 1%
(C) 0.01% (D) 0.1%

How will half of 1% be written in
decimal ?

(A 02 (B) 0.02

(C)y 0.003 (M) 0.05

A shopkeeper wants to earn 20% profit
by purchasing an article for ¥ 500. The
selling priec ol the article will be

(A) T 600 (B) 550
(C)y T 500 (D) T 650
What is the place value of 5 in 3254710 7
(A) 5 (B) 10000
(C) 50000 (D) 54710

The face value of 8 in the number 458926
is:

(A) 8 (B) 1000
(C) 8000 M) 8926
38649 — (1624 +4483)="2

(A) 32542 (B) 32452
(C) 34542 (D) 35422

Find the factors ol 330.
(Ay 2=4x5=11

(B) 2x3x7x13

(C) 2x3x3x%13

D)y 2x3x5x%11
Find the factors of 1122.
(A) 3x9x17x2

(B) 3x11x17x2
(C) 9x9x17x%2

(D) 3x11x17x3
What would be the simple interest

obtained on an amount of ¥ 5760 at the
rate of 6 p.c.p.a. after 3 years ?

(A) T1036.80 (B) T1063.80

(Cy T1336.80 (D) T1666.80

If a person walks at 14 kim/hr instead of
10 km/hr, he would have walked 20 km
more. The actual distance travelled by
him is:

(A) 50 km (B) 80 km

(Cy 60km (D) 36 km

The log boats do not go very far. If the
wind is helpful, they travel about 4 km
in one hour. How long will they take to
g0 a distance of 10 km ?
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54.

55.

56.

57.

59.

60.

(A) 10 hours
(C) 4 hours
11.8km="7"
(A) 1180dam (B) 1.180dam

(C) 11800dam (D) None of these
(225.15+74.85 - 50)x 2.5="22

(B) 2 hours
(D) 2 hours 30 min.

(A) 16 (B) 24
(C) 25 (D) 30
27 % J376 =540+ 3 -84
(A0 (B) 1
)2 (D)3
Simplity :

5>< 17 of 7 1

3 5 51 3

2 28 5 2

—x— of - —=

9 5 7 3
A ! B) 4
(A 3 (B)
C) 2 D 1
(© ™)

. In measuring the sides of a rectangular

plot, one side is taken 5% in excess and
the other 6% is deficit. Find the error

percent in area calculated.

(A) 0.5% (B) 1.0%

(C) 1.3% (D) 2.3%

360 m? water is used to irrigate rectangu-
lar field of length 40 m and width 18 m.
The height of the water level in the field

willbe ..o, m.
(A) 0.5 By 1
) 1.5 (D) 0.2

The given pie chart shows (in degree) the
cxpenditure incurrcd on various sports
during a particular year. Study the graph
carefully and answer the questions.

If the total amount spent in that year is 2
crores, then the total amount spent on

cricket and hockey was :
(A) T 8,00,000 (B) T 80,00,000
(C) 12000000 (D) ¥ 16000000

Direction (Q. No. 61 to 80)

There are four passages in this Section. Each
passage is followed by five questions. Read
each passage carefully and answer the ques-
tions that follow. Tor each question, four
passages answers as (A), (B), (C) and (D)
are given. Only one out of these is correct.

Passage-1
Jules Verne was a Frenchman who was born in
1828. He was not an inventor and he was not a
scientist, but he read a great many books on
science. He had very strong imagination and he
loved adventures although he did not have many
great adventures himself. He wrote a number of
electing books about the things which he thought
that scientists and inventors would one day be
able to do, At that time his stories seemed like
fairy tales.
Many of Jules Jerne's attempts to look into the
future, however, were surprisingly. One of his
look was called "From Earth 10 Moon', In this
three men and a dog made a journey around his
moon they did this in a hollow 'Ship' fired from
a gun. After going around the Moon, they re-
turned to carth and splashed down into the sca
not far [rom where the first real Moon travel-
lers landed in July, 1969 about a hundred vears
later.
Jules Verne's most famous book is 'Twenty
Thousand Leagues under the sea’. Jules Verne
died in 1905. When he was seventy seven. Many
vears later, explores really did go it the Moon
and one part of the Moon was given Jules
Verne's name. Answer the following questions:
61. Who was Jules Vern ?
(A) inventor (B) scientist
(C) writer (D) actor
62, Three men and a dog made a journey
around the Moon in a book.
(A) From earth to moon
(B} Around the world in eighty days
(C) Twenty Thousand Leagues under
the sea
(D) The mysterious Island
63. Verne's stories were like :
(A) adventure  (B) fairy tales
(C) imagination (D) lore story
04. How did the three men and a dog made
journey around the moon :
(A) Through asea
(B) Space Ship
(C) Tnahollow 'ship'
(D) inacar
05. When did the first real Moon travellers
landed on Moon 7
(A) 1828
(Cy 1969

(B) 1905
(D) 1808



Passage-2
There are wild dogs and pet dogs. Pet dogs are
helpers and friends to people. There were no
pet dogs 15,000 years ago. Men and women
learned how to work with dogs. Dogs helped
humans travel from Asia to North America
10,000 vears agoe by pulling sleds in the snow.
Pcople say dogs are "man's best [riend.” They
help with farming. They help with hunting,
They help with fishing. They can pull things
for people. They can help find things. There
are many colors of dogs. There are white dogs,
gray dogs, black dogs and brown dogs. A dog's
fur can be short or long. Dogs have curly hair or
straight fur. There are very small dogs. They
are only 6-8 inches tall. There are very big dogs.
They arc about 3 fect tall. Some dogs can sce
well. Some dogs do not see very well. All dogs
can hear well. They can hear sounds that
people cannot hear, They can hear high sounds
and low sounds. They can hear sound very far
away. All dogs can smell very well. They can
smell 40 times better than humans! Dogs live 5
to 13 years, but some dogs live much longer.

One dog lived to be 24 years old!
00. Dogs helped people go to America by

(A} pulling sleds in the snow.
(B) helping with farming.
{C) helping find things.
(D) None of the above
67. How tall arc the smallest dogs ?
(A} 3inches (B) 5inches
(C) 6inches (D) 13 inches
68. How tall are the biggest dogs ?

{A) 1 foot (B) 3 feet

(C) 4 fect (D) 5 fect
69. Whali can all dogs do well ?

(A) see

(B) hear

(C) smell

(D) Both (B) and (C) are correct

70. How old was the oldest dog ?
(A) Syearsold (B) 10 years old
(C) 13 yearsold (D) 24 years old
Passage-3
Bees are insects. Bees are special insects be-
cause they can fly! They can move through the
air like an airplane! Bees can fly because they
have wings. They use their wings to fly. Bees
can fly fast, Bees can also fly slow. They can
fly up and they can tly down. They need to fly
to get to the flowers! Bees can have three
colours. They can be vellow, red and orange.
All bees are black in some places. Bees have
three main parts. They have a head. They have
a body. And. they have a stinger. The stinger is
used to defend against cnemics. They also have
six legs. They use their legs to stand and climb.,
They also use their legs (o eat and collect pol-
len. Bees live in many places. They live in Af-
rica, Australia, Asia, Curope, North America,
South America. The only continent that bees
do not live on is Antarctica! I understand why
they don't live in Antarctica. It's too cold! Most
of the time, bees are nice to humans. If you do
not bother them, they will not bother you.
[1ave fun watching the bees this summer!
Answer the following questions :
71. What are bees ?
(A) Mammals
(C) Reptiles
72. How do bees fly ?
(A) They use their legs
(B) They use their head
(C) They use their wings
(D) None of the above.
73. How many legs do bees have ?
(A) Two (B) Four
(C) Six (D) Light
74. What is the stinger used for?
{A) To eat food
(B) lo defend against enemies
(C) BothAand B
(D) None of the above

(B) Birds
(D) Tnscels

75. Where do bees live ?
(A} North America
(B) Asia
(C) Antarctica
(D} BothAand B
Passage-4
Plants need sunlight and water to make their
own food. You can do an experiment to test if
this is true. Place a bucket over a patch of green
grass. After a few days, lift the bucket. You will
see that the grass is not as green anymore. If
vou leave the bucket in place for a week, the
grass will become very dull. This happens be-
cause the grass cannot make food in the dark.
Remove the bucket. In a few days, the grass
will start turning green again.
Answer the following questions :
76. What is the main point of this passage ?
(A) Buckets are bad.
(B) Plants need sunlight.
(C) Grass is not pretty when it is dull.
(D) None of the above
77. What is an experiment ?
{A) away lo grow grass
(B) a way to test an idea
(C) a way to use a bucket
(D) none of the above
78. What happens after a few days ?
(A) The grass turns brown.
{B) The grass gets very dull
(C) The grass is not as green
(D) None of the above
79. What is the opposite of dull?
(A} bright (B) brown
(C) sunlight (D) dark
80. According to the passage, how long does
it take for the grass to become dull ?
(A) amonth
(B) aweek
(C) afew days
(D) none of the above
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1. (A)
2. (D)
3.(0)

4. (B)

5. (A)

6. (D)

7. (C)

8. (D

~—

9. (B)

10. (B)

11. (B)

In all the other figures, the cuts are
made on two sides of a square sheet.
Except figure (D), all the figures can
be rolated into each other.

Except (C), all the figures can be
rotated into each other.

All the figures except (B), the
number of line segments is equal on
both sides of the line.

The given figure in questions is
similar to the figure of option {A).
So, option (A) is the correct answer.
The given figure in questions in
similar to the figure of option (D).
So, option (D) is the correct answer.
The given figure in questions in
similar to the figure of option (C).
So. option (C) is the correct answer.
The given figure in questions in
similar to the figure of option (D).
So, option (1)) is the correct answer.

The figure of the option (B) will
complete the question figure. Hence,
option (B) is the correct answer.

The figure of the option (B) will
complete the question figure. Hence,
aption (B) is the correct answer,

The figure of the option (B) will com-
plete the question tigure. Hence, op-
tion {B) is the correct answer.
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12.

13.

14.

15.

16.

17.

18.

19.

Solutions

(D)

©

D)

(D)

(©)

D)

(©)

©

Practice Set-1

The figure of the option (D) will com-
plete the question figure. Hence, op-
tion (D) is the correct answer.

In each next figure, a small square is
added to the main figure. Hence, the
answer figure (C) will be obtained.
In each next figure, the outside
designs of the circle move one place
in clockwise direction. small riangle
and circle inside the circle change
their position and the middle design
gels inverted.

In cach next figure, the blackened
part rotalecs onc place in
anticlockwise direction and the
shaded part rotates two places in
clockwise direction.

In each next figure, the square rotates
half and one place in clockwise
dircction and the triangle rotates
half, one, one and a half, two
...... places respectively in
anticlockwise direction.

From first to second figure, the inner
figure increases in size. The outer
figure reduces in size and gets
inverted and its top touches the
inner figure from top side. The dots
of inncr figure come in the outside
figure. Similarly, we get lourth
figurc (D) from third (igure.

The first figure is inverted in the
second figure and the position of
the dots is changed. Similarly, the
fourth figure (C) will be get from
the third figure.

Second [igure is the mirror image ol
first figure. Similarly, fourth figure
is the mirror image of the third
figure.

20. (A)

21. (B)

22. (D)

23. (A)

24. (C)

25. (A)

26. (C)

27. (A)

From [irst to sccond [igure, the [irst
figure rotates 45° in clockwise
direction and two identical ligures
intersect each other. Similarly, the
fourth figure (A) gets from the third
figure.

The figure of option (B) completes
the geometrical figure in the given
question figure,
The figure of option (D) completes
the gecometrical figure in the given
question figure.
The figure of option (A) completes
the geometrical figure in the given
question figure.

The figure of option (C) completes
the geometrical figure in the given
question figure.

X

XTmwen Y

X

Hence, option (A} is the correct

mitror image ol the question ligure.
X
T LEg[N T
B 4
v O|E |O v
Y

[Ience, option (C) is the correct
mirror image ol the question figure.

X
Hence, option (A} is the correct

Y
mitror image of the question figure.




28. (D)

29. (A)

30.

31.

32.

33.

34.

36.

37.

(A)

(A)

(3

()

(3

. (C)

™

(©)

X
\\Eﬂﬂ
Y

Hence, option (D) is the correct
mirror image of the question figure.
On opening the folded and punched
paper in sequence,

v~

it will look the samc as option (A)

after the whole paper opening.
On opening the folded paper in

sequence,

it will look the same as option (A)
after the whole paper opening.
On opening the folded paper in
sequence,

it will look the same as option (A)
after the whole paper opening.

After opening the folded and pun-
ched paper in a sequence. it looks
the same as option (I3). llence,
option (B) is the correct answer.

The figure of option (I} can be
formed from the picees given in the
question figure.

The figure of option (I3) can be
formed from the pieces given in the
question figure.
The figure of option (C) can be
formed from the pieces given in the
question figure.

The figure of option (D) can be
formed from the picees given in the
question ligure.

Hencee, question figure is embedded
in figure of option ().

38. (C)

Henee, question figure is hidden/
embedded in figure of option (C).

39. (A)

llence, question figure is embedded

in figure of option (A).

40. (A)

Hence, question figure is embedded
in [igurc of oplion (A).

41. (A) 5-14-{3-(3-3-6)}]
=5 -[4-£3+6)]
=5-(4-9)
=5-(-5)=10

42, (A) Length of the string = 5 meters
. 5
Length of cutting part = 4 N

37

= —~ meters
8

37
. Required length = 5 — 5

B 40 - 37 B i
= g =3 melers
1 0.1
01= ——=—=0.1%
43. (D) 0.001 1000~ 100 °
44, (C Hlffl"/*LX1
. (O alf o °= 00 2
1
= —=10.005
200

45, (A) S.P. ofthearticle

= |:500+500x2—0}
100

=500+ 100

=3 600

46. (C)

47.

48.

49,

32,

- (A)

Ones
0

Tens
1

Hundreds
7

Thousands
4

Ten
Thousand
5

I.akh
2

Ten
Lakh
3

Place value of 5 = (5 x 10000)
= 50000

(A) The face value of 8 in the given
numeral is 8.

(A) Given expression
=38649 — (1624 + 4483)
=(38649 - 6107)= 32542

330
165
55
1

(D) 2

[l B

330=2x3x5x 11
1122
[ 561
187

17
S1122=2x3 x 11 =17

—
[ =[]

. (A)P=T5760,R=6%, T=3 yrs.

100
=3 1036.80
(A) Let the actual distance by a person
=xkm

X

actual time = ——

Then, 10

ATQ,.
Distance = Speed x Time

X
x+20=14 x 10
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10x + 200 = T4x
4x =200
x=50km

53. (A) 4 km distance travel in =1 hour

54. (A)

h
h
—~
]
~

56. (C)

57. (C)

58. (C)

1
| km distance travel in = 1 hour

. . 1
10 km distance travel in = EX 10

=2.5 hour
=2h30m
1 km= 100 dam
11.8km=11.8 x 100
=1180 dam
97 = (22515 +74.85 — 50} % 2.5
= (300-50) = 2.5
=250x2.5=25x25
?=25
. 340
Y576 == 84
= 2% 24 =180-84
= 2" %24 =96
,_96 _
= 2—24 4
= 2r=2°
= "=2
517 7 1
2ulor L2
305 51 3
2 28 .5 2
b e G
9 5 7 3
5 (7 17) 1
3 51 5/ 3
=2 [5 28) 2
9 7 3 3
5.7 1
T2
3 15 3
- gx4_g
9 3
7.1
9 3 7-3 4
-3 2 - - =2
22 8-6 2
9 3
Let the original length and breadth

be / and b respectively.
After changes.

New length afier 5% excess
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New breadth atter 6% deficit

_,_ b0 9,
ST 100 100
Calculated ar *L)SlXﬂb
alculated area= 100 100
987
1000
rror in area={ b — o0
_ le
1000
E % L b L 100
. = — ¥ X
rror % = Too0 b
=1.3%
59. (A) Al'Q, Let, water level be 4 metres.
Then,

Ixbxh=360m°
40 x 18 % h =360

360
720

1
"2
h=035m
60. (B) Expenses on Cricket and Hockey

81+63

= 3600 x 100

B om a0
= 360 x 100 = 40%

So, total expenses

0 2,00,00,000
= Tog X200

= §80,00,000
61. (C) Jules verne was the first authentic
writer of modern science.

62. (A) In the book From earth to moon"
three men and a dog made a journey
around the moon.

63.
64.

65.

66.

67.

68.

76.

77.

78.

79.

80.

(B) Verne's stories were like fairy tales.

(C) The three men and a dog made jour-
ney around the moon in a hollow
ship".

(C) The first real Moon travellers landed
in July, 1969 about a hundred years
later.

(A) Dogshelped humans travel from Asia
to North America 10,000 years ago
by pulling sleds in the snow. So,
aplion (A)is correct .

(C) The smallest dogs are only 6-8 inch
tall. So, option (C)is correct .

(B) The biggest dogs are about 3 feet

tall. So, option (B) is correct.

. (C)All dogs can smell very well.

. (D) The oldest dog was 24 years old.

. (D) Bees are insects.

. (C) Bees can fly because they have wings.
. (C) Bees (They) have six legs.

. (B) Bees havc a stinger and it is uscd to

defend against enemies.

. (D) Bees live in Aftrica, Australia, Asia,

Europe, North America, South
America but do not live Antarctica.
So, option (D) is correct.

(B) The main idea of the passage is the
fact that plants need sunlight. So,
option (B) is correct.

(B) According to the passage we
conclude that an experiment will
"test if this is true.” We know that
"this" means the idea from the
previous sentence that "plants need
sunlight." An experiment is a way
to test this idea. So, option (B) is
correct.

(C) According to the passage we
conclude that after a few days. you
can lift the bucket and see the "grass
is not as green anymore."” So, option
(C) is correct.

(A) The word dull (adjective) means
lacking brilliance or brightness. So,
Bright is thc opposite of dull.

(B) According to passage we conclude
that after "a week, the grass will
become very dull." So, (B) is the
correct answer.
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